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(Gv)lEmEHETEE)
(1) 74 —0—"#xT

F& (¢ 65 mm )
WiERE (7.0 m + 48.0 m + 80 m ) x 2
126.0 m X 185 kg/m(Efi[ES) = 2,331 kg
F R (¢ 65 mm )
WIER  ( 44 m ) X 2 = 88 m
88.0 m X 0.888 kg/m = 78 kg
i JE 3R (¢ 14 mm )
WIER ( 550 m ) X 2 = 1100 m
110.0 m X 0.843 kg/m(BELIEE) = 93 kg
&t EER 2,331 kg
ERR 78 kg
gk 93 kg
2,502 kg
= 2.5 t
(2) AHEET
FRAR (Z|# 50 x 200 x 2000)
T 5 223 M,
223 W X 12 kg/M(BEAIEE) = 2,676 kg
= 2.7 t
(3) sAMEET
(2m&p7=14 )
- B
@ (100 x 50 x 5) 3m x 94 kg/m (BfEE) =
x 1 #F = 282 kg
@ (100 x 50 x 5) 2m X 9.4 kg/m = 18.8 kg
x 3 4@ = 564 kg
® (6 x 50) 2 m x 236 kg/m (BUEE) =
X 2 sF = 944 kg
@ (9 x 50) 145 m x 353 kg/m = 511 kg
x 4 sFT = 2044 kg
® (9 x 50) 1m x 353 kg/m = 353 kg

X

2 4FF = 71.06 kg

28.2 kg

472 kg

126.0

m



SiE i

® (50 x 50 x 6 ) 2 m x 443 kg/m (HEfzE=) = 8.86
X 2 4B = 17.72 kg
@ (50 x 50 x 6 ) 1 m x 443 kg/m (BfiiFs) = 443
X 4 #FF = 17.72 kg
(50 x 50 x 6 ) 0.7 m x 31 kg/m (EuEs) = 2.17
X 2 #FF = 434 kg
©® (50 x 50 x 6 ) 2 m x 443 kg/m (BAIEE) = 8.86
x 2 4B = 17.72 kg
(50 x 50 x 6 ) 1 m x 443 kg/m (BfiEs) = 443
X 4 s = 17.72 kg
® L-50x50x6
@ L-50x50x6
L-50x50x6
/® FHH-6x50 © L-50x50x6
[ Y ]
L |
\® [-100x50x5x7. 5
@ [-100x50x5x7.5
® F£A-9x50
/\ @ | F$m-9x50
4 L-50x50x6
/ \ L/
MEBABI AR
O EMTEBH
- BRO. @, FHEO~®., LR
2map oY AF
282 + 564 + 944 + 2044 + T7.06 + 17.72 = 1393
FHIEAMBEAST 13930 kg x 223 m = 3,106 kg
OBtEERM
- LEE®O~®
2mp -y AF
17.72 + 1772 + 434 + 17.72 = 57.5
=M EEEE 5750 kg x 223 m = 1,282 kg

kg

kg

kg

kg

kg

kg

kg



- BT

A&EHY)
~g (75 x 75 x 6)  1m x 685 kg/m (BEfuESE) x 16 v =
(75 x 75 x  6) 05 m x 685 kg x 4 4fF = 137 kg
- 3 (75 x 6) 1.2 m x 32 #F x 353 kg/m (EfEE) = 1356 kg
(75 % 6) 06 m x 848 x 353 kg = 169 kg
1&£H7-) A5 275.8 kg
AR BT EEF 2758 kg x 4 = 1,103 kg
AT AR R 1113
(75 x 75 x 6) 4m x 4#FF x 685 = 109.6 kg
BRMEEET 1,103 kg + 109.6 kg = 1,213 kg
H FH7 3,106 kg
(St 1,282 kg
i 1,213 kg
5601 kg
- 5.6 t
(4) BEARBT
AxH7Y )
- BES
44.45 x  4.00 = 177.8 m2
= 178.0 m2

44,450

109.6 kg



